

# Section 4.5: Multiplication: Special

Tuesday, March 19, 2019 1:53 PM

## Cases

two multiplication patterns:

$$(A+B)(A-B) = A^2 - \cancel{AB} + \cancel{AB} - B^2$$

short cut

$$= A^2 - B^2$$

called a "difference of squares"

examples:

a)  $(x+2)(x-2)$

$$x^2 - 4$$

b)  $(y+z)(y-z)$

$$y^2 - z^2$$

c)  $(x-2)(x+2)$

$$x^2 - 4$$

note that the order  
of the sum  $x+2$   
and difference  $x-2$   
doesn't matter

d)  $(2x+3)(2x-3)$

$$4x^2 - 9$$

$$e) (5a - 2b)(5a + 2b)$$

$$25a^2 - 4b^2$$

second pattern:

$$(A+B)^2 = (A+B)(A+B) = A^2 + AB + AB + B^2$$

$$\begin{array}{l} \swarrow \\ \text{shortcut} \end{array} = A^2 + 2AB + B^2$$

examples: multiply out and simplify when possible

$$a) (2m - 7)^2$$

$$= \overset{A^2}{(2m)^2} + \overset{2AB}{2(2m)(-7)} + \overset{B^2}{(-7)^2}$$

$$= 4m^2 - 28m + 49$$

$$b) (x + 5)^2$$

$$= x^2 + 2(x)(5) + 5^2$$

$$= x^2 + 10x + 25$$

. 2

$$c) (6 - n)^2$$

$$= 36 + 2(6)(-n) + (-n)^2$$

$$= 36 - 12n + n^2$$

extra practice:

$$(a + b)(a^2 - ab + b^2)$$

$$= a^3 - a^2b + ab^2 + a^2b - ab^2 + b^3$$

$$= a^3 + b^3$$